
SK 1 -S���8Ü§ R� S þ����'X.y²µ R��d'X��=�

(1). (∀a ∈ S) a R a;

(2). a R b� b R c =⇒ c R a.

SK 2 - S, T �ü����8Ü,� |S| = m, |T | = n.¯

(1) S � T �ïáõ��N�º

(2) S � T �ïá÷�! ü�! V��^��´�oº�Uïáõ��º

SK 3 � x ∈ (0, 1) ,y² f(x) = tan(π(x− 1
2 ))� (0, 1)«m�¢ê¶���V�.

SK 4 � C =
{

(x, y) ∈ R2 | x2 + y2 = 1
}
,

f : [0, 2π] −→ C

θ 7−→ (cos θ, sin θ)

� ∼f ´dN� f p���d'X(�1nù½n 5.17 (i)).

y²µ

(1) ∀α ∈ (0, 2π),'u ∼f ��da ᾱ = {α}.

(2) 0̄ = {0, 2π}.

(5µTSK`² [0, 2π]/ ∼f r [0, 2π]/ÊÜ0¤���.)

SK 5 O����¦Èµ

(1)

(
1 2 3 4 5 6

3 5 4 6 1 2

)
×

(
1 2 3 4 5 6

2 4 5 6 3 1

)
;

(2)

(
1 2 3 4 5 6

2 4 5 6 3 1

)
×

(
1 2 3 4 5 6

3 5 4 6 1 2

)
.
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